Univalent Holomorphic Functions with Negative and Fixed Finitely Many Coefficients in terms of Generalized Fractional Derivative

ALI EBADIAN* AND RASOUL AGHALARY

Department of mathematics, Faculty of Sciences, Urmia university, Urmia, Iran e-mail: a.ebadian@urmia.ac.ir and raghalary@yahoo.com

Shahram Najafzadeh

Department of mathematics, University of Maragheh, Maragheh, Iran e-mail: najafzadeh1234@yahoo.ie

ABSTRACT. A new class of univalent holomorphic functions with fixed finitely many coefficients based on Generalized fractional derivative are introduced. Also some important properties of this class such as coefficient bounds, convex combination, extreme points, Radii of starlikeness and convexity are investigated.

1. Introduction

Let A denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

which are analytic and univalent in the open disc $\Delta = \{z \in \mathbb{C} : |z| < 1\}$. Also denote by T the subclass of A consisting of functions of the form

(1.1)
$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad a_k \ge 0, \quad z \in \Delta$$

introduced and studied by Silverman [9]. Also see ([3], [4], [8]).

We shall make use of the following definitions of fractional calculus (that is, fractional integrals and fractional derivatives) (cf. Owa [7]; see also Srivastava and Owa [11]).

Definition 1.1. The fractional integral of order λ is defined, for a function f(z),

Received April 12, 2009; accepted September 27, 2010.

2000 Mathematics Subject Classification: Primary 30C45; Secondary 30C50.

Key words and phrases: Univalent, Fractional derivative, Coefficient estimate, Convex set, Extreme point, Radii of starlikeness and Convexity.

^{*} Corresponding Author.

by

$$D_z^{-\lambda} f(z) := \frac{1}{\gamma(\lambda)} \int_0^z \frac{f(\zeta)}{(z - \zeta)^{1 - \lambda}} d\zeta \qquad (\lambda > 0),$$

where the function f(z) is analytic in a simply-connected region of the complex zplane containing the origin and the multiplicity of $(z-\zeta)^{\lambda-1}$ is removed by requiring $\log(z-\zeta)$ to be real when $z-\zeta>0$.

Definition 1.2. The fractional derivative of order λ is defined, for a function f(z), by

$$(1.2) D_z^{\lambda} f(z) := \frac{1}{\gamma (1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(\zeta)}{(z-\zeta)^{\lambda}} d\zeta (0 \le \lambda < 1),$$

where the function f(z) is constrained, and multiplicity of $(z-\zeta)^{-\lambda}$ is removed, as Definition 1.1, above.

The generalization of the fractional derivative of order k for a function in a simply-connected region of z-plan containing the origin is denoted by

$$J_{0,z}^{k,\eta,\delta}f(z) \qquad (0 \le \delta < 1, 0 \le k < \eta < 1)$$

and defined for a power function as follows:

$$(1.3) \quad J_{0,z}^{k,\eta,\delta} \ z^p = \frac{\Gamma(p+1) \ \Gamma(p-\eta+\delta+1)}{\Gamma(p-\eta+1) \ \Gamma(p-k+\delta+1)} \ z^{p-\eta} \quad (p > \max\{0, \eta-\delta\}-1).$$

By a simple calculation if $f(z) \in T$ then

(1.4)
$$\frac{\Gamma(2-\eta) \ \Gamma(2-k+\delta)}{\Gamma(2-\eta+\delta)} \ z^{\eta} \ J_{0,z}^{k,\eta,\delta} f(z) = z - \sum_{k=2}^{\infty} \phi(k) \ a_k \ z^k,$$

where

$$(1.5) \quad \phi(k) = \ \frac{(1)_k \ (2 - \eta + \delta)_{k-1}}{(2 - \eta)_{k-1} (2 - k + \delta)_{k-1}} \quad , k \in \{2, 3, \ldots\} \ and \ (x)_k = \frac{\Gamma(x+k)}{\Gamma(x)}$$

Application of fractional calculus on univalent functions was carried out by several authors in ([1], [2], [5], [6], [10]).

Definition 1.3. A function $f(z) \in T$ is said to be in the class $\Lambda(\alpha, \beta, \theta, \nu)$ if it satisfies the inequality

(1.6)
$$\left| \frac{H J_{0,z}^{k,\eta,\delta} f(z) - 1}{2\alpha H J_{0,z}^{k,\eta,\delta} f(z) - \beta(1-\theta)\alpha} \right| < \nu,$$

where $H = \frac{\Gamma(2-\eta) \ \Gamma(2-k+\delta)}{\Gamma(2-\eta+\delta)} \ z^{\eta-1}$, α, β, θ and ν are belong to [0.1). Now we introduce the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$ the subclass of $\Lambda(\alpha, \beta, \theta, \nu)$ consisting

of functions of the form

(1.7)
$$f(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1+\theta)) c_m}{\phi(m) (1 + 2\alpha \nu)} z^m - \sum_{k=n+1}^{\infty} a_k z^k$$

The different cases of such functions were studied earlier by many authors in [2], [4].

For achieving our main results we need the following lemma.

Lemma 2.1. Let $f(z) \in T$, then $f(z) \in \Lambda(\alpha, \beta, \theta, \nu)$ if and only if

(1.8)
$$\sum_{k=2}^{\infty} \phi(k) \ (1 + 2\alpha\nu) \ a_k \le \alpha\nu \ (2 - \beta(1+\theta)),$$

where $\phi(k)$ is defined by (1.5).

The result is sharp for the function

(1.9)
$$G(z) = z - \frac{\alpha \nu (2 - \beta(1+\theta))(2-\eta)_{k-1}(2-k+\delta)_{k-1}}{(1+2\nu\alpha)(1)_k (2-\nu+\delta)_{k-1}} z^k.$$

Proof. Let the inequality (1.8) holds true and suppose |z| = 1. Then we obtain

$$\left| H \ J_{0,z}^{k,\eta,\delta} f(z) - 1 \ \right| - \nu \left| \ 2\alpha \ H \ J_{0,z}^{k,\eta,\delta} f(z) - \beta(1+\theta)\alpha \ \right|$$

$$= \left| -\sum_{k=2}^{\infty} \phi(k) \ a_k \ z^{k-1} \ \right| - \nu \left| \ 2\alpha \ - 2\alpha \sum_{k=2}^{\infty} \phi(k) \ a_k \ z^{k-1} \ - \beta(1+\theta)\alpha \ \right|$$

$$\leq \sum_{k=2}^{\infty} \phi(k) \ (1+2\nu\alpha) \ a_k \ - \alpha\nu \ (2-\beta(1+\theta)) \ \leq \ 0.$$

Hence, by maximum modulus theorem, we conclude that

$$f(z) \in \Lambda(\alpha, \beta, \theta, \nu).$$

Conversely, let f(z), defined by (1.1), be in the class $\Lambda(\alpha, \beta, \theta, \nu)$. So the condition (1.4) yields

$$\left| \frac{H \ J_{0,z}^{k,\eta,\delta} f(z) - 1}{2\alpha \ H \ J_{0,z}^{k,\eta,\delta} f(z) - \beta(1+\theta)\alpha} \right| = \left| \frac{\sum_{k=2}^{\infty} \phi(k) \ a_k \ z^{k-1}}{2\alpha - \sum_{k=2}^{\infty} 2\alpha \ \phi(k) \ a_k \ z^{k-1} - \beta(1+\theta)\alpha} \right| < \nu.$$

Since for any z, Re(z) < |z|, then

$$Re\left\{\frac{\displaystyle\sum_{k=2}^{\infty}\phi(k)\ a_{k}\ z^{k-1}}{\alpha(2\ -\beta(1+\theta))-2\alpha\displaystyle\sum_{k=2}^{\infty}\phi(k)\ a_{k}\ z^{k-1}}\right\}\ <\ \nu.$$

By letting $z \to 1$ through real values, we have

$$\sum_{k=2}^{\infty} \phi(k) \ a_k \le \alpha \nu (2 - \beta(1+\theta)) - 2\alpha \sum_{k=2}^{\infty} \phi(k) \ a_k,$$

and this completes the proof.

2. Main results

In this section we prove a necessary and sufficient condition for functions to be in the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$ and obtain some important corollaries.

Theorem 2.1. Let f(z) is defined by (1.7), then $f(z) \in \Lambda(c_m, \alpha, \beta, \theta, \nu)$ if and only if

(2.1)
$$\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)}{\alpha\nu(2-\beta(1+\theta))} a_k < 1 - \sum_{m=2}^{\infty} c_m$$

Proof. Let

(2.2)
$$a_m = \frac{\alpha \nu (2 - \beta (1 + \theta)) c_m}{\phi(m) (1 + 2\alpha \nu)} \quad (m = 2, ..., n).$$

Since $\Lambda(c_m, \alpha, \beta, \theta, \nu) \subseteq \Lambda(\alpha, \beta, \theta, \nu)$, so $f(z) \in \Lambda(c_m, \alpha, \beta, \theta, \nu)$ if and only if

$$\sum_{m=2}^{n} \frac{\phi(m) (1 + 2\alpha\nu)}{\alpha\nu (2 - \beta(1 + \theta))} a_m + \sum_{k=m+1}^{\infty} \frac{\phi(k)(1 + 2\alpha\nu)}{\alpha\nu(2 - \beta(1 + \theta))} a_k < 1,$$

or

$$\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)}{\alpha\nu(2-\beta(1+\theta))} a_k < 1 - \sum_{m=2}^{n} c_m,$$

and this gives the result

Corollary 1. If f(z), defined by (1.7), be in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, then for $k \geq n + 1$ we have

(2.3)
$$a_{k} \leq \frac{\alpha\nu \left(2 - \beta(1+\theta)\right)\left(1 - \sum_{m=2}^{n} c_{m}\right)}{\phi(k)(1 + 2\alpha\nu)},$$

this result is sharp for G(z) defined by

$$G(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1+\theta))c_m}{\phi(m)(1+2\alpha\nu)} z^m - \frac{\alpha \nu (2 - \beta(1+\theta))(1 - \sum_{m=2}^{n} c_m)}{\phi(k)(1+2\alpha\nu)} z^k.$$

Theorem 2.2. Let

(2.4)
$$f_j(z) = z - \sum_{m=2}^n \frac{\alpha \nu (2 - \beta(1+\theta))c_m}{\phi(m)(1+2\alpha \nu)} z^m - \sum_{k=n+1}^\infty a_{k,j} z^k,$$

for j = 1, 2, ..., t be in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, then the function $F(z) = \sum_{j=1}^t d_j \ f_j(z)$ is also in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, where

$$\sum_{j=1}^{m} d_j = 1 , \quad 0 \le \sum_{m=2}^{n} c_m \le 1 , \quad 0 \le c_m \le 1.$$

Proof. By Theorem 2.1 for every j = 1, 2, ..., t, we have

$$\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)}{\alpha\nu(2-\beta(1+\theta))} \ a_{k,j} < 1 - \sum_{m=2}^{n} c_m.$$

But

$$F(z) = \sum_{j=1}^{t} d_j \ f_j(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu \ (2 - \beta(1+\theta)) c_m}{\phi(m)(1+2\alpha \nu)} - \sum_{k=n+1}^{\infty} \left(\sum_{j=1}^{t} d_j \ a_{k_1 j}\right) z^k.$$

So

$$\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)}{\alpha\nu(2-\beta(1+\theta))} \left(\sum_{j=1}^{t} d_{j} \ a_{k_{1}j}\right) = \sum_{j=1}^{t} \left(\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)}{\alpha\nu(2-\beta(1+\theta))} \ a_{k_{1}j}\right) d_{j}$$

$$< \sum_{j=1}^{t} \left(1-\sum_{m=2}^{n} c_{m}\right) d_{j}$$

$$= 1 - \sum_{m=2}^{n} c_{m}.$$

Corollary 1. If f(z) be in the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, then the function $F(z) = \frac{1}{2}(f_1(z) + f_2(z))$ is also in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$.

Corollary 2. The class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$ is a convex set.

3. Extreme points of the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$

Now we obtain the extreme points of the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$. The following theorem is required in our investigation.

Theorem 3.1. Let

(3.1)
$$f_n(z) = z - \sum_{m=2}^n \frac{\alpha \nu (2 - \beta(1+\theta)) c_m}{\phi(m)(1+2\alpha \nu)} z^m,$$

and for $k \ge n + 1$, (3.2)

$$f_k(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1+\theta))c_m}{\phi(m)(1+2\alpha\nu)} z^m - \frac{\alpha \nu (2 - \beta(1+\theta))(1 - \sum_{m=2}^{n} c_m)}{\phi(k)(1+2\alpha\nu)} z^k.$$

Then the function F(z) is in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$ if and only if it can be expressed in the form

$$F(z) = \sum_{k=n}^{\infty} d_k \ f_k(z),$$

where
$$d_k \ge 0 \ (k \ge n)$$
 and $\sum_{k=n}^{\infty} d_k = 1$.

Proof. Let
$$F(z) = \sum_{k=n}^{\infty} d_k f_k(z)$$
, then we obtain

$$F(z) = d_n f_n(z) + \sum_{k=n+1}^{\infty} d_k f_k(z)$$

$$= z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1+\theta))}{\phi(m)(1+2\alpha \nu)} c_m z^m - \sum_{k=n+1}^{\infty} \frac{(1 - \sum_{m=2}^{n} c_m)\alpha \nu (2 - \beta(1+\theta))}{\phi(k)(1+2\alpha \nu)} d_k z^k.$$

Finally we have

$$\sum_{k=n+1}^{\infty} \frac{\phi(k)(1+2\alpha\nu)(1-\sum_{m=2}^{n} c_m) \ \alpha\nu(2-\beta(1+\theta))}{\alpha\nu(2-\beta(1+\theta))\phi(k)(1+2\alpha\nu)} \ d_k$$

$$= (1-\sum_{m=2}^{n} c_m) \left(\sum_{k=n+1}^{\infty} d_k\right)$$

$$= (1-\sum_{m=2}^{n} c_m)(1-d_n) < 1-\sum_{m=2}^{n} c_m.$$

Thus $F(z) \in \Lambda(c_m, \alpha, \beta, \theta, \nu)$.

Conversely suppose $F(z) \in \Lambda(c_m, \alpha, \beta, \theta, \nu)$. So

$$F(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1+\theta))c_m}{\phi(m)(1+2\alpha \nu)} z^m - \sum_{k=n+1}^{\infty} a_k z^k.$$

By putting

$$d_k = \frac{\phi(k)(1 + 2\alpha\nu)}{\alpha\nu \ (2 - \beta(1 + \theta))(1 - \sum_{m=2}^{n} c_m)} \ a_k, \qquad (k \ge n + 1)$$

we have $d_k \ge 0$ and if we put $d_k = 1 - \sum_{k=n+1}^{\infty} d_k$, we obtain

$$F(z) = z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1 + \theta))}{\phi(m)(1 + 2\alpha \nu)} z^{m} - \sum_{k=n+1}^{\infty} \frac{\alpha \nu (2 - \beta(1 + \theta))(1 - \sum_{m=2}^{n} c_{m})}{\phi(k)(1 + 2\alpha \nu)} d_{k} z^{k}$$

$$= f_{n}(z) - \sum_{k=n+1}^{\infty} \left(z - \sum_{m=2}^{n} \frac{\alpha \nu (2 - \beta(1 + \theta))c_{m}}{\phi(m)(1 + 2\alpha \nu)} z^{m} - f_{k}(z)\right) d_{k}$$

$$= f_{n}(z) - \sum_{k=n+1}^{\infty} \left(f_{n}(z) - f_{k}(z)\right) d_{k}$$

$$= \left(1 - \sum_{k=n+1}^{\infty} d_{k}\right) f_{n}(z) + \sum_{k=n+1}^{\infty} d_{k} f_{k}(z)$$

$$= \sum_{k=n}^{\infty} d_{k} f_{k}(z).$$

Corollary. The extreme points of the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$ are the functions $f_k(z)$ $(k \geq n)$ defined by (3.1) and (3.2).

4. Radii of starlikeness and convexity

In the last section we obtain the radii of starlikeness and convexity for the elements of the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$.

Theorem 4.1. Let the function f(z), defined by (1.7), be in the class $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, then f(z) is starlike of order δ (0 \leq δ < 1) in $|z| < R_1$, where R_1 is the largest

value such that

$$\sum_{m=2}^{n} \frac{c_m}{\phi(m)(1+2\alpha\nu)} R_1^{m-1} + \frac{1-\sum_{m=2}^{n} c_m}{\phi(k)(1+2\alpha\nu)} R_1^{k-1} < \frac{1}{\alpha\nu} \frac{1}{(2-\beta(1+\theta))} (k \ge n+1)$$

Proof. We must show that

$$\left|\frac{z\ f'(z))}{f(z)} - 1\right| < 1 - \delta.$$

But

$$\begin{split} &\left|\frac{zf'(z)}{f(z)}-1\right| \\ &\leq \frac{\displaystyle\sum_{m=2}^{n} \frac{(m-1)\alpha\nu(2-\beta(1+\theta))}{\phi(m)(1+2\alpha\nu)}|z|^{m-1} + \displaystyle\sum_{k=n+1}^{\infty} (k-1)a_{k}|z|^{k-1}}{1-\displaystyle\sum_{m=2}^{n} \frac{\alpha\nu(2-\beta(1+\theta))}{\phi(m)(1+2\alpha\nu)}|z|^{m-1} - \displaystyle\sum_{k=n+1}^{\infty} a_{k}|z|^{k-1}} \\ &< \frac{\displaystyle\sum_{m=2}^{n} \frac{(m-1)\alpha\nu(2-\beta(1+\theta))}{\phi(m)(1+2\alpha\nu)} R_{1}^{m-1} + \displaystyle\sum_{k=n+1}^{\infty} \frac{(k-1)\alpha\nu(2-\beta(1+\theta))}{\phi(k)(1+2\alpha\nu)} R_{1}^{k-1}}{1-\displaystyle\sum_{m=2}^{n} \frac{\alpha\nu(2-\beta(1+\theta))}{\phi(m)(1+2\alpha\nu)} c_{m} R_{1}^{m-1} - \displaystyle\sum_{k=n+1}^{\infty} \frac{\alpha\nu(2-\beta(1+\theta))(1-\sum_{m=2}^{n} c_{m})}{\phi(k)(1+2\alpha\nu)} R_{1}^{k-1}} \end{split}.$$

Thus (4.1) holds true if the above term is less than $1 - \delta$ or equivalently

$$\sum_{m=2}^{n} \frac{(m-\delta)\alpha\nu(2-\beta(1+\theta))}{\phi(m)(1+2\alpha\nu)} c_m R_1^{m-1} + \sum_{k=n+1}^{\infty} \frac{(k-\delta)\alpha\nu(2-\beta(1+\theta))}{\phi(k)(1+2\alpha\nu)} R_1^{k-1} < 1,$$

or

$$\sum_{m=2}^{n} \frac{c_m}{\phi(m)(1+2\alpha\nu)} R_1^{m-1} + \frac{1-\sum_{m=2}^{n} c_m}{\phi(m)(1+2\alpha\nu)} R_1^{k-1} < \frac{1}{\alpha\nu(2-\beta(1+\theta))},$$

and this completes the proof.

Since f(z) is convex if and only if zf' is starlike, so we conclude the following corollary.

Corollary . Let f(z) be in $\Lambda(c_m, \alpha, \beta, \theta, \nu)$, then f(z) is convex of order δ $(0 \le \delta < 1)$ in $|z| < R_2$, where R_2 is the largest value such that

$$\sum_{m=2}^{n} \frac{m \ c_m}{\phi(m)(1+2\alpha\nu)} \ R_2^{m-1} + \frac{k(1-\sum_{m=2}^{n} c_m)}{\phi(m)(1+2\alpha\nu)} \ R_2^{k-1} < \frac{1}{\alpha\nu \ (2-\beta(1+\theta))}.$$

References

- [1] P. K. Beverji, L. Debnath and G. M. Shenan, Application of fractional derivative operators to the mapping properties of analytic functions, Fractional calculus and applied analysis, 5(2)(2002), 169-180.
- M. Darus and S. B. Joshi, On a subclass of analytic functions involving operators of farctional calculus, J. Rajastan Acad. Phy. Sci., 4(2)(2005), 73-84.
- [3] A. Ebadian, S. Shams and Sh. Najafzadeh, Certain inequalities for p-valent meromorphic functions with alternating coefficients based on integral operator, AJMAA, 5(1)(2008), 1-5.
- [4] V. P. Gupta, P. K. Jain, Certain classes of univalent functions with negative coefficients II, Bull. Austral. Math. Soc., 15(1976), 467-473.
- [5] Y. C. Kim, Y. S. Park and H. M. srivastava, A class of inclusion theorems associated with some functional integral operators, Proc. Acad., 67(91)(1991), Ser.A.
- [6] Y. C. Kim and J. H. Choi, Integral means of the fractional derivative of univalent functions with negative coefficients, Mathematica Japonica, 51(2000), 453-457.
- [7] S. Owa, On the distortion theorems. I, Kyungpook Math. J., 18(1978), 53-59.
- [8] S. Owa and M. K. Aouf, On subclasses of univalent functions with negative coefficients, Pure Appl. Math. Sci. 29(1-2)(1989), 131-139.
- [9] H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51(1975), 109-116.
- [10] H. M. Srivastava, M. Saigo and S. Owa, A class of distortion theorems involving certain operators of fractional calculus, J. Math. Appl., 131, (1988), 412-420.
- [11] H. M. Srivastava and S. Owa (Editors), Univalent functions, Fractional Calculus, and their Applications, Halsted Press (Elliss Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1989.